
DESC. DEXTER Tv/IN BED (HB) IMPORT X 
FINISH(S): HAMMERED BROWN 
FINISH PROCESS: ONE STEP POWDER 

3• 

-�' TUBE
3¼' � 18 GA, 
' l ..

5� 

36' 
181, 

!Ill�' TUBE_ 
- 5�'

18 GA. TYi 
' 

54• ' 
�• TUBEJ 50�' 6' 

1__ 18 GA, 49�' 
� 

Ill�' TUBE __ 
19 GA. -

24' 

L: 
18' 19�'_,-4.265 THRU 

·� HOLES

J,7� 
4 

' 5' 
' ' 

-- 3/3 - 37�' - C/C -

USE THIS AS REFERENCE ONLY 
HEIGHT WIDTH DEPTH WEIGHT lLBS.J # OF CTNS 

SIZE FTBD HDBD FTBD HDBD D-BED PACKED UNPACKED BED HB BED HB ��-

DESCRIPTION 
- HARDWARE BAG #351501 BED (BL.ACK) 

- {4) 1/4-20 2 1/4 COUNTERSUNK ALLEN HEAD SCREW 

- {4) 1/4-20 1 FIAT ALLEN HEAD SCREW 

- {B) 5/B" OD METAL WASHER 

- (4) 1/4-20 HEX NUT 

- All.EN WRENCH 

- -

- HARDWARE BAG #351502 HEADBOARD (BL.ACK) 

- {4) 1/4-20 2 1/4 COUNTERSUNK ALLEN HEAD SCREW 

- (4) 5/8" OD METAL WASHER 

- (4) 1/4-20 HEX NUT 

- All.EN WRENCH 

REVISION 
ADD CARTON INFORMATION 

-

-

-

CARTON DIMS cu FT. U.P.S.
HEADBOARD BED HDBC y N 

3/3 37 3/4 54 40 1/2 40 1/2 - 37 20 - - 1 1 43' X 37 1/2' X 4' 41 3/4' X 35 3/4' X 3 1/2' 3.73 3.02 - X

4/6 - - - - - - - - - - - - - - - - -

5/0 - - - - - - - - - - - - - - - - -

6/6 - - - - - - - - - - - - - - - - -

- - - - - - - - - - - - - - - - - -

- - - - - - - - - - - - - - - - - -



STYLE B4014,4,5,6,7 

DESC. DEXTER B ED (F□□ TB □ARD) 
FINISH(S): HAMMERED BROWN 
FINISH PROCESS: ONE STEP POWDER 

1
�. TUBE

¢::;> - 18 GA,
... 

I 
-

5ij' 
,_ _¢1�' TUBE 

18 GA, 

18ij' 33�' 
27�' 

-
9¼' -
TYP 

. I ---114-20 AVK 
J, L. I 

i' TUBEJ 
INSERTS 

I 5' 8' 
■ """ I 18 GA. � =, 

I 
¢�' TUBE_ 

-

19 GA, 

416 - 52�' - CIC

510 - 59�'- CIC

616 - 75�' - CIC

USE THIS AS REFERENCE ONLY 
HEIGHT WIDTH DEPTH WEIGHT (LBS.) I# OF CTNS 

37i' 

SIZE FTBD HDBD FTBD HDBD D-BED PACKED UNPACKED BED HB BED II-<► ...... BED -

3/3 
- - - - - - - - - - - -

HARDWARE 
NEEDED? 

Y X 
N-

# 
-
-
-
-
-
-
-
-
-
-
-
-

-
CARTON 

-

DESCRIPTION 
HARDWARE BAG #351501 BED (BLACK) 

(4) 1/4-20 2 1/4 COUNTERSUNK ALLEN HEAD SCREW 

(4) 1/4-20 1 FLAT ALLEN HEAD SCREW 

(8) 5/8" OD METAL WASHER 

(4) 1/4-20 HEX NUT 

ALLEN WRENCH 

-

HARDWARE BAG #351502 HEADBOARD (BLACK) 

(4) 1/4-20 2 1/4 COUNTERSUNK ALLEN HEAD SCREW 

(4) 5/8" OD METAL WASHER 

(4) 1/4-20 HEX NUT 

ALLEN WRENCH 

REVISION 
ADD CARTON INFORMATION 

ADD HB CARTON INFORMATION 

-

- -
DIM'S cu FT. U.P.S. 
HEADBOARD BED HOBO y N 

- - - -

4/6 37 314 56 55 1/2 55 1/2 - 42 23 - - 1 1 58' X 38' X 3 3/4' 57' X 38' X 3 1/2' 4.78 4.38 - X 

5/0 37 314 56 62 1/2 62 1/2 - 44 24 - - 1 1 65' X 37 3/4' X 4' 64' X 38' X 3 1/2' 5.68 4.93 - X 

6/6 37 314 56 78 1/2 78 1/2 - 57 29 - - 1 1 81 3/4' X 38' X 4' 79 1/2' X 37 1/4' X 3 1/2' 7.16 6.08 - X 

- - - - - - - - - - - - - - - - - -

- - - - - - - - - - - - - - - - - -



STYLE B40143 
-------

DESC. DEXTER T'w'IN BED <Fn 

FINISH(S): HAMMERED BROWN 
FINISH PROCESS: ONE STEP POWDER

USE 

SIZE 

33�' 

- 1
�' TUBE 

j 18 GA, 

L _¢1�' TUBE
18 GA, 

27
�, I �-: : 

16 �, I I O 

l==;::(JO:::::llJO=OO==:ffl::::
,
=00===1 

.. -1 / 4 -2 0 A V K 

I 1
2�' 9' L . 8, �, TUBE"J 

• INSERTS 
I I 5'.c::EU. 18 GA, �=>-----� 

I 

-3/3 - 3
7

�' - CIC-

THIS AS REFERENCE ONLY 
HEIGHT WIDTH DEPTH WEIGHT (LBS.) I# OF CTNS 

FTBD HOBO FTBD HOBO D-BED PACKED UNPACKED BED HB 
IM► ...... BED - BED 

HARDWARE 
NEEDED? 

Y X 
N-

# 
- HARDWARE BAG #351501 BED (BLACK) 

- (4) 1/4-20 2 1/4 COUNTERSUNK ALLEN HEAD SCREW 

- (4) 1/4-20 1 FLAT ALLEN HEAD SCREW 

- (8) 5/8" OD METAL WASHER 

- (4) 1/4-20 HEX NUT 

- ALLEN WRENCH 

- HARDWARE BAG #351502 HEADBOARD (BLACK) 

- (4) 1/4-20 2 1/4 COUNTERSUNK ALLEN HEAD SCREW 

- (4) 5/8" OD METAL WASHER 

- (4) 1/4-20 HEX NUT 

- ALLEN WRENCH 

CARTON DIM'S cu FT. U.P.S. 
HEADBOARD BED HOBO y N 

3/3 37 3/4 54 40 1/2 40 1/2 - 37 20 - - 1 1 43' X 37 1/2' X 4' 141 3/4' X 35 3/4' X 3 1/2' 3,73 3.02 - X

4/6 - - - -
- - - - -

- -
-

- - - -

5/0 - - - - - - - - - - - -
- - - -

6/6 - - - -
- - - - -

- -
-

- - - -

-

- - - - - - - - - - -

- - - - -

-

- - - - - - - - - - -

- - - - -



SlYLE _B4_2 _14_3 ___ _ 
DOMESTIC_-_

DESC. DEXTER Tv/IN BED (HB) IMPORT X 
FINISH(S): HAMMERED BROWN 
FINISH PROCESS: ONE STEP POWDER 

3• 

-�' TUBE
3¼' � 18 GA, 
' l ..

5� 

36' 
181, 

!Ill�' TUBE_ 
- 5�'

18 GA. TYi 
' 

54• ' 
�• TUBEJ 50�' 6' 

1__ 18 GA, 49�' 
� 

Ill�' TUBE __ 
19 GA. -

24' 

L: 
18' 19�'_,-4.265 THRU 

·� HOLES

J,7� 
4 

' 5' 
' ' 

-- 3/3 - 37�' - C/C -

USE THIS AS REFERENCE ONLY 
HEIGHT WIDTH DEPTH WEIGHT lLBS.J # OF CTNS 

SIZE FTBD HDBD FTBD HDBD D-BED PACKED UNPACKED BED HB BED HB ��-

HARDWARE 
NEEDED? 

Y X 
N-

# DESCRIPTION 
- HARDWARE BAG #351501 BED (BL.ACK) 

- {4) 1/4-20 2 1/4 COUNTERSUNK ALLEN HEAD SCREW 

- {4) 1/4-20 1 FIAT ALLEN HEAD SCREW 

- {B) 5/B" OD METAL WASHER 

- (4) 1/4-20 HEX NUT 

- All.EN WRENCH 

- -

- HARDWARE BAG #351502 HEADBOARD (BL.ACK) 

- {4) 1/4-20 2 1/4 COUNTERSUNK ALLEN HEAD SCREW 

- (4) 5/8" OD METAL WASHER 

- (4) 1/4-20 HEX NUT 

- All.EN WRENCH 

CARTON DIMS cu FT. U.P.S.
HEADBOARD BED HDBC y N 

3/3 37 3/4 54 40 1/2 40 1/2 - 37 20 - - 1 1 43' X 37 1/2' X 4' 41 3/4' X 35 3/4' X 3 1/2' 3.73 3.02 - X

4/6 - - - - - - - - - - - - - - - - -

5/0 - - - - - - - - - - - - - - - - -

6/6 - - - - - - - - - - - - - - - - -

- - - - - - - - - - - - - - - - - -

- - - - - - - - - - - - - - - - - -



S1YLE =B�40=1�4�3 ___ _ DOMESTIC __ 
DESC. DEXTER T\./IN BED <HB) IMPORT X

FINISH(S): HAMMERED BROWN 
FINISH PROCESS: ONE STEP POWDER 

3¼' c::::::,

-.----------.-,--- - r
i' TUBE 
18 GA, -

l -

3' 

36' 

¢1�' TUBE_ 
18�. 

-

18 GA, 

54' ,-

i' TUBEJ 50i' 6' 
49�• L_ 18 GA, 

¢�• TUBE_ 
19 GA, 

l �--:-¢,265 THRU
16i' f f �� : HOLES
l 12i' 9'71• ..

! l 2 5' 
f f 

5�• 
rrYI 

-

-

24' 

• 18' 19�'

�4'-----'--..&. 

- 3/3 - 37�' - C/C -

USE THIS AS REFERENCE ONLY 
HEIGHT WIDTH DEPTH WEIGHT CLBS.J # OF CTNS 

SIZE FTBD HDBD FTBD HDBD D BED PACKED BED HB -- -· BED 

HARDWARE 
NEEDED? 

Y X 
N- 

# DESCRIPTION 
- HARDWARE BAG #351501 BED (BLACK) 

- (4) 1/4-20 2 1/4 COUNTERSUNK All.EN HEAD SCREW 

- (4) 1/4-20 1 FlAT Al.LEN HEAD SCREW 

- (8) 5/8" OD METAL WASHER 

- (4) 1/4-20 HEX NUT 

- All.EN WRENCH 

- HARDWARE BAG #351502 HEADBOARD (BLACK) 

- (4) 1/4-20 2 1/4 COUNTERSUNK All.EN HEAD SCREW 

- (4) 5/8" OD METAL WASHER 

- (4) 1/4-20 HEX NUT 

- All.EN WRENCH 

CARTON DIMS CU FT. U.P.S. 
HEADBOARD BED HDBC Y N 

3/3 37 3/4 54 40 1/2 40 1/2 - 37 20 - - 1 1 43' X 37 1/2' X 4' 141 3/4' X 35 3/4' X 3 1/2' 3,73 3,02 - X 

4/6 - - - - - - - - - - - -

5/0 - - - - - - - - - - - -

6/6 - - - - - - - - - - - -
- - - - - - - - - - -- -
- - - - - - - - - - -- -


	Dexter Headboard Only
	Dexter Footboard
	Dexter TWIN Footboard
	Dexter TWIN Headboard
	Dexter Twin Bed Headboard



